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grossed ; his views coniîended thoinselves tu the thuaiglttul, anîd Solution-
in a very short tunie the meuthods whî'.h lie su pursistently advocated 1 bun. shingles = 1 layer of 20 in. x 25 x 2=1000 in. = 83A ft.

Layer im 60 ft. by 30 ft. =60 ft. x Jo3=5400 ft.
wuil have comlpletely triumphedlt)(. 5400 ft.

It wuuld t.ake up tut munch ut our space to e.xplam these mietlhuds. No. of M. retuired= 6 80 0 L 4 bun. =544÷4=161 M.
Wu can only advise oul readois tu prucuro at once lis "9. How many miles wIll a plouglunan travel am ploughg a field
Eniglish " and "Words and their Us' -tw v tlums wlidh nu 500 ft. long, and300 ft. tId,-the furruws being 15 inlches wide?
teacher of English of the present day c.i dispense with if h au Ans. 22,8 muiles.

wishes te keep in the front rank, un\ess he i% a " Richard Grant Solution. Nutber of miles travelled

White " LU hiInself. Theoso 1olumes cOntain mn11y extr.vagms, = 500 ft. x 0 12in 5280 ft.
and ake nu pretontion to systeimatic treatment, but they catinut =.5ign=22 rnis.
fail tu put the teadhur in a now pi.nt of viuw vwlere iany thiigs 10. Ioiv muany square feet arc thera in ani incli board 20 ft. long,
that Unc truublud huin wil bccanse platia, just as thLt lmveinuits 18 in. wide ina one end, and 161 lin. in the other i Ans. 28î sq. ft.
of the lao.tvenly bolIes did te OpLrna eus waen lie tuok lis stand Solution. Nnabor of 1q. f. in the board

in imagination in the sunt and saw the planets cireling aroiud i. - -x20 ft.12 in.
In order that we ni ay nut imiislead, howevor, it is necessary tu cx- x17 i. x 20 ft.
plain that Mr. Whito's admirable and sugjestive volui es aire not =28 sq. ft.

well adapted to assist teachers inI " cramming " either tliinselves 11. How nany square ft. (in. board nieasure) are there in a plank
or their pupils fur eithur Cillege or Dup.artmuital Exaimniatiuns as 18 feut luong, 94 i. wide mii one end, 81 i. wide ma the uther end,
theso are nowadays contducted. W. il. and 2A in. thik ? Ans. 33î sq. fc.

Sol-tion. Numtîber of sq. f t. in the plank
91 in. +8Win. . . •

p (!ompctitioîî, . - ×18Lt.×2)in.÷12m.

ARITHMETICAL PROBLEMS.

FOR FOURTHI CLAss.-DY NO. 555.

q3+5 1 0ý
I. Simplify - X +1 Ais. 19.

b)--5 3.

Souto. 64+5 G 11 117 10Solution. - . -'I "X2+1= 10 X13 '2 +1=19-.

2. Divide -008 byyo,~050 , and obtaisa the result with decimal frac-
tionîs.

Prove the work by changing the dividend into a vulgar fraction.
Ails. 16.

Solution. '0 na='00÷·000>80-+5-=16.
·008÷ibo=ijooX' 0 0 0 =1.

3. Find the diffierence betweein ·03 and -03. Anls. '003.

Solution. -0'3---03= -g=a- S= -- =d =

-0 Anls. '003.
4. How many square feet of lumber will cover a shed 20 feet

long, 15 feut vide, aind 9 feet higli, withi flat roof, deducting a
doorway 7 feet highland 3 fot wide ? Anls. 909 sq. ft.

Solution. The number of squaru feet required=the perimcter of
the shed, 70 feot X 9 feet f 20 feet X 15 feut - 7 feut X 3 feut
=630 square feet -t- 300 square fout - 21 square feet = 909 square
feet.

5. How inany square feet of luiber at $600 per 1000 sq. ft.,
will pay for 30 Ibs. dry fisl at $3.50 ier quintal of 112 lbs. i

Anbs. 416â s Lt.

Solution. Price of fish- -- = -=82.50.112 lbs. I
$2.50X1000 1250

Square fet of lumber=- -= -. 416. sq. ft.600 3
6. A fariner paid for a cow and a sheep with the prico of 2 tons

8 cwt. hay at 60 cents per cwt. The cow was valued 7 times as
iuch as the sheop, what was the prico of each i

Ans. The price of the cow, 25.20; of the shep, 83.60.
Solution. 2 tons 8 cwt. at _0 cents =48 cwt. X 60e. = S28.80.

The price of the cow = Î of 828.80 = $25.20 ; and
" sleep = J of 828.80 = $3.60.

7. How many cords of wood can be stowed in a rouni 20 ft. long,10 fLt. wide, and 9 ft. ligh ? Ans. 141 cords.
. 20 fLt. x 10 ft. x 9 ft. 225 141 cords.

Solution. - 128c. it. =1 ="14 cords.
8. low many M. of shingles will be required to cover a surface

60 feet long and 30 foot wide, if the bundiles be 20 iiches wvide, and
contain 25 double layers; and if the shingles be laid on the surface
4 Inches apart ? Ans. 160 M.

9 in ×1Lf. ×23 in.x1 i. x M =33î sq. ft.
12 mn.

12. Which is greater '0025 of a mile, or '70 of a rodi
Ais. -0025 of a mile

Solution. -0025 i. x8 fur.x40 p.=-80 of a rod ;..0025 of a
mile is greater.

13. Reduce 7 ft. 6 in. to the fraction of a mile. Ans. h-- of nn.
. 7 ft. 15 3 1

Solution. -f2 0 ft. -io ~ oL amni.

14. What will $40.60 amunut te in 21 years at 31 % per six
months ? Ans. 848.41 44.

Solution. Aiouint= 40.60+ 140.0 00x3!%x2y. x2
100

=$7.814+S40.00=4.41.
15. Show that.. of §~of ï of a ton is equ. te ¾ of il( of . of a cwt.
Solution. 1 of ~ of " of a ton= 6 cf a ton= 5

1 ÷‡=1 of a cwt.
and ¾ï of 2 of 4 of a cwt. =1 of a cwt.

16. If 50 bbls. flour be pîurchased at 85.50 per bbl., and sold for
$300.00, what will be the gain of 1 b. of fleur ? Ans. Mc.

8300.00
Solution. Gain on 1 bbl. flour= $5.50=8·50.

50

:."llb. " = S5
196 ls.

17. Divido à of the product of a+ and g - by ý of the differ-
ence botween •7 and .

S . of ( +Z X (<-ý) of #+L ..Solutiona. - .. 'J-) =- 4+t¾+4+i

= 'W = 7f3
18. A manat who walked 120 auiles in 41 days at 12 heurs per day,

travelled ho inaiy feet on an average pur minute ? Ans. 1951 Lt.
120 an. X 5280 ft.

Solution. No. of feet= -= e X ï=195 ft.
4}d.X12h. X60 m.

19. If a man cau do a job of of work in 4 days, and a boy can do
as mucli in ) of the tiae, in what tiane eau they do it working

togetlier ? Ans. 3à days.
Solution. The man can do = l i 1 day;

and the boy " * of 4 = 1 " "
and they " ~

"the whole or' in ý . = 31 days.
20. If 2 mon cai dig a ole 6 feet long, 3 fest vide, and 8 feet

deep In tlhree days , ami wliat timna can 3 mion dig a hole ô feet long,
4 foet wido and 9 foot deep ? Ans. 21 days.
Solution.-

Tinte rcquired by2 imen to dig 6 x 3 x 8 ft. = 144c. ft. =3 days.
. a 2îe 180e.fLt. x 3d._. 2 mon 5x4x9 ft.= 1 -=3î dys.

1man = 2 x 3.=74 days.
S : " 3ien = 7 -- 3 =2 days.


